
ANSWERS – VOLUME2: STRESSES, STRAINS, DISPLACEMENTS 
Chapter 4, Members Subject to Bending and Extension problem 4.052, page 251 
 

Last update: 22-10-07 

Remarks: See §4.6, pages 168 till 170 
See §4.74, pages 179 till 182 

 
Answers 4.52-1:  
 
a.  3 3

;b 4,08 10  mmzW = ×

b.  3 3
;t 6,80 10  mmzW = ×

c.  2
max 100 N/mmσ =

d.  2
t 60 N/mmσ = −

  2
b 100 N/mmσ = +

 
Explanation 4.52-1:  
 

3 4102 10  mmzzI = ×  
 

 
 
 
 
Answers 4.52-2:  
 
a.  3 3

;b 26,30 10  mmzW = ×

b.  3 3
;t 15, 23 10  mmzW = ×

c.  2
max 26,8 N/mmσ =

d.  2
t 26,8 N/mmσ = −

  2
b 15,5 N/mmσ = +

 
Explanation 4.52-2:  
 

3 4578,66 10  mmzzI = ×  
 


